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7778 1N K97 — That you should not establish rights of
possession against each other.

Overview

The two sons of Xnr, "»7 and X327 1 bought a maid in partnership. To
insure that neither should be able to make a 711 against his brother and
claim sole ownership to this maid; they had the maid serve each brother on
alternating years so neither would have three consecutive years of fp11. Our
Moo questions the need for such a scheme and what it accomplished.

mooIn asks:

(x,2% 77) 1AP9 33n7 23 Y N1 — and even though we learnt further in a w»
that —

7T BV 7T APTT an® PN Pemw — partners cannot establish a ptn against
each other. Any possessions which partners own in partnership cannot be subsequently
claimed by either partner as belonging solely to him on the basis that he is in possession
of this item or property. The reason is that since they are partners, neither of them minds
if the object is in the possession of either partner. The question arises here, why did the
two brothers have to make this special arrangement in order that neither can claim
ownership on the basis of 7P, since they bought this maid in partnership, neither can
make a 717 on this maid against his brother-partner?

mooIN answers:

D MWRYY WP RomT W wen — Y''wn explained1 that here it was
necessary for them to do this; to divide the servitude of the maid in alternating
years —

Mo 7Y an o7 X9 59 — for they did not have witnesses that they
were partners. Therefore if one of the brothers would have been in possession of this
maid for three consecutive years, he could have claimed that the maid is his, and his
brother was never a partner with him in the maid. The ruling that "M% have no 7pIn is
only if there are 0>7v that they were partners. In the absence of such 27y, if one partner
makes a 7P and claims that he is the sole owner, he is the pimn.

mooIN rejects this answer:
PR 1159299 XY — and the >''1 has a difficulty with s>"w answer —

19 an7 - for if this is so; that there were no witnesses that the brothers were partners
in this maid, then they have not accomplished much by their scheme, because —

IIWRY T paaw IR — that one that was in possession of the maid for
the first year —

"t is not clear to which """ our MmN is referring to. This lends some credence to the notion that there
was an earlier manuscript of *"w1 on 2"2 that did not reach us. Others maintain that the X073 should be
"Y', and Moo is referring to the 2"aw on "7 WYY 00T "7 2,21 7.
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Yo R RS — will claim that the maid is entirely his —
PRI An® RWOW 2YTY PRY 0 — since there are no witnesses that his

partner owns a share in this maid. A 7P of three years is required if the plaintiff -
7v7yn can prove that he was the original owner. If however the 7y7v» cannot prove that
he is the original owner than the person in possession now, needs no 11 to be the .
He is automatically the P, since he is in possession. If, in our case, there were no 2°7¥
that the brothers owned this maid in partnership, then whoever is in possession of the
maid now, can claim sole ownership and is considered to be the prmn. He will not be
required to give the maid to his brother at the end of the first year. What did they
accomplish by alternating her years of servitude?!

noon offers a different solution:

PR 1937 ANAY — it appears to the "9 that even though there were 27y
concerning the partnership, and seemingly there was no need to be concerned about any
mpin, nevertheless they made this alternating arrangement —

2917 1977 897 — because they did not want —
2w whw N7 PR — that any one of them should be in possession for
three years, in order —

nomwn nanwn N — that the partnership should not be forgotten.
Presently there were 2>7v who knew that they were partners. Therefore there was no
concern that the one who is in possession of the maid now (in the first year) will claim
that it is solely his. However if one would be in possession of this maid for three years,
then by that time, (even) the 0>7v would have perhaps forgotten the partnership. The fact
that he is in possession for three consecutive years would lead to the false assumption
that he is indeed the sole owner. Therefore by alternating yearly, that would serve as a
reminder to all, that they are partners.

Summary
»"w1 maintains that since there were no witnesses that the brothers were

partners therefore either could have made a npim.

The "7 argues that if there were no 2°7¥, then whoever was in possession
could have claimed ownership.

The "1 maintains that there were 07y, and nevertheless they did not want
that either should possess the maid for three years, lest people forget that
they were partners.

Thinking it over
Does the expression 777X 21N K77, lean more towards either one of the
two interpretations given in MooIN?°

2 See 711 "7 nvhy.
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